Ntumero: Nome: Curso:

1. Determine o valor dos seguintes integrais:
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Ntumero: Nome:

1. Determine o valor dos seguintes integrais:
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Ntumero: Nome: Curso:

1. Determine o valor dos seguintes integrais:
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Ntumero: Nome:

1. Determine o valor dos seguintes integrais:
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1. Determine o valor dos seguintes integrais:
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1. Determine o valor dos seguintes integrais:
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1. Determine o valor dos seguintes integrais:
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Ntumero: Nome: Curso:

1. Determine o valor dos seguintes integrais:

Y /\/% zeos(r?)

1 + sen(z?)

1
/ zln(z?® + 1)dz
0

D2



Ntumero: Nome: Curso:

1. Determine o valor dos seguintes integrais:
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Ntumero: Nome: Curso:

1. Determine o valor dos seguintes integrais:
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